Now that you have run this simulation about three times, I would like for you to evaluate the experience. First, I would like you to focus on the actual process you went through as you ran the simulation.  Specifically, I'd like you to consider the following questions:

1. What did you gain from this exercise? 

2. How did your strategies and decisions change? 

3. What business theory(s), model(s), or analytical tools were most useful to you in determining your approach to the decisions you made?

Please answer the above in 2-3 pages.  Thank you for assisting me with this ongoing problem.  

For reviewing purposes, the following is the last simulation analyze that was conducted for this problem:

The changes in the strategy proposed during the last run are: X5 should have a price of $250 and $240 during 2006 and 2007 respectively. The R&D budget during each of these years will be 20%. In this round X6 will be priced at $430 during 2006, $420 during 2007, $430 during 2008, and $420 during 2009. The R&D expenditure during these years will be 40%, 40%, 35%, and 35% respectively. In case of X7 the prices will be $160 during 2006, $160 during 2007, $210 during 2008, and $210 during 2009. The R&D budget will be 40%, 40%, 65% & 65% respectively.

Year 2006

	Product
	Price $
	R&D Allocation %
	Profits

	X5
	250
	20
	120283763

	X6
	430
	40
	158111760

	X7
	160
	40
	13379078

	Total
	
	
	291774602


Year 2007

	Product
	Price $
	R&D Allocation %
	Profits

	X5
	240
	20
	95385952

	X6
	420
	40
	213106288

	X7
	160
	40
	60949495

	Total
	
	
	369441736


Year 2008

	Product
	Price $
	R&D Allocation %
	Profits

	X5
	-
	-
	-

	X6
	430
	35
	177263917

	X7
	210
	65
	94886684

	Total
	
	
	272170601


Year 2009

	Product
	Price $
	R&D Allocation %
	Profits

	X5
	-
	-
	-

	X6
	420
	35
	98978417

	X7
	210
	65
	151498150

	Total
	
	
	250476567


The final score is $1394143621. This score is higher than the previous score of $1384864570.

In this round the performance was better because of the two changes made. The changes made were the price of $240 for X5 during the year 2007, and the price of $430 charged for X6 in 2006. The final score would have been better in this round, had X6 not declined more steeply after 2007 than it did in the previous rounds. 
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Even though the simulation tells us that the buyers of X6 were not affected by price, there was high price elasticity observed during the year 2006. When we reduced the price of X6 to $430 there was an increase in revenues and profits from X6. Further reduction in price to $420 led to a steep increase in revenues in 2007. This shows that X6 has high price elasticity. On the other hand the price elasticity of X7 is relatively low. Even though the price of X7 was increased by $50 in the year 2008 its revenues increased. Other explanations for this increase in revenues is that X7 was in the growth stage of the PLC and that there were several potential customers that had not been able to buy the product. Another, explanation is that the penetration strategy that had been used by keeping low prices initially to encourage the trail of X7 worked exceedingly well.  
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The unexpected and unexplained factor in this round is the steeper decline in the revenues of X6 during the years 2008 and 2009. This decline reduced the profits of X6 during the years 2008 and 2009. One explanation of this steeper decline could have been environmental factors that dissuaded customers from purchasing a costlier model, another reason could have been the exceptionally good performance of newer models similar to X7 that could have weaned away customers from X6. How could this situation have been countered? Since, it has been observed that the demand for X6 is price elastic, a further reduction in the prices of X6 could have led to improved performance in the current run. 

[image: image3.emf]PDA Simulation X6 Score

0

100000000

200000000

300000000

2006200720082009

Year

Score

X6 Score


When compared to the previous run, the revenues/profits of X6 declined more steeply during this run. Overall, compared to the previous run the performance was better during the current run. The increase in the profits could have been higher during the present run if the performance of X6 had remained similar to that during the previous years. An important observation made is that there was a decline in annual profits from 369441736 in 2007 to 272170601 in 2008. This was the year when X5 was discontinued. This sudden decrease in total profits could have been avoided if another product, say X8 was introduced in the same year. In a market where the duration of the PLC is relatively small it is important to have new products in the pipeline. The introduction of a new handset having new technology and innovative features would have prevented the steep decline in the profits of the company. 
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